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Questionl:-Arrange the following events chronologically:
(1) Sepoy Mutiny

(2) Battle of Plassey

(3) Queen's Proclamation

(4) Formation of INC

Select the correct answer from the codes given below:

GemeumLd Blspe|samer sroeuflanaliLily alfleng L (NS migeT
(1)  Sdumd sesb

(2)  WYGermd Cumy

(3) rgrewfluder psLeid

(4) INC 2 (meumdsid

EC Qar@ssliul_(Herar GHluihsaier @mbg sflwrer Lfamos CorbosH &S D

A:-(4), (2), (1), (3)
B:-(2), (1), (3), (4)
C:-(3), (1), (2), (4)
D:-(4), (2), (3), (1)

Correct Answer:- Option-B

Question2:-Match List | with List Il and select the correct answer with the help of a
code given below:

List | (Author) List Il (Work)
(a) E.M. Sankaran Nambuthiripad (i) A survey of Indian History
(b) Elamkulam Kunjan Pillai (ii)  Kerala Charithrathile Iruladanja
Edukal
(c) K.M. Panikkar (iii) Keralam Malayalikalude
Mathrubhumi
(d) K.N. Ganesh (iv) Keralathinte Innalakal

Ul gwdd | 2L er uliquied I g Qurpsd womibd Spsar @muir et uweatuBhiSS)
sflwmen ulenews CainolsHEse, L.
Ul iqwiéd | (< Sflwi) Ll iquied 1 (Lemfl)



(a) E.M. smigren poysilum® (i) e o7Cau ool @bdlwer ablevL i

(b) oL@ @GEhFer YeTener (i)  Cayer sflgdrsdGe
Brar_¢ssadt o6

(c) K.M. uentlésiy (iii)  Gsyerm wenewimella@ERGL
LOTE(MLhLO]

(d)  K.N. sCemrey (iv) CsarergdlenGL @ enamevaser

A:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
B:-(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
C:-(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
D:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

Correct Answer:- Option-C

(
(

~

Question3:-Who was the founder of Kuka Movement?
GST QUSHSMS 2 (HeumsSlweuy wmy?
A:-Renjith Singh
TEh&lG Sl
B:-Ram Singh
TrD S
C:-Raja Ram Mohan Roy
preom g Gomser
D:-Nauninal Singh
Gmpereflemed &l
Correct Answer:- Option-B

Question4:-Which of the following is/are related to Swathi Thirunal Rama Varma?
(1) A golden age in the history of Travancore

(2)  First Raja of Travancore to receive the title Maharaja from the British Crown
(3) The first census of the state was conducted

(4) Formulated a Legislative Council

Select the correct answer using the code given below:

Yereu(meuemeLD e eTgl/cTeaneu Geumdl l(HBITET FTD euUFLMe L6 GG FLenLWig)?
(1)  Smelsmmgmfer curermdled e CuTHETELD

(2) Gl g6y oS BlmBg warrrer ererm Ll L Sangl Qubp SHmelgrigfen
P FrgT

(3) wrblogdler WP ST QFTens Haurstls(HUL BLsSLILL L g

(4) e sl L Goeomealiamwu 2 (Heursslwg)

&G Qar@ssliul_(Herer @GOt en 1 tweartu®hgd sflwrer uameos CoibosHEs6,D.



A:-(1) and (2)
(1) womib (2)
B:-(2) and (3)
(2) womib (3)
C:-(1) and (3)
(1) wopmib (3)
D:-(2) and (4)
(2) wpmib (4)
Correct Answer:- Option-C

Question5:-Which of the following is/are not related to Great Revolution in England?
(1) The storming of the Bastille

(2) Bloodless Revolution

(3) Toleration Act

(4) Continental Congress

Select the correct answer using the code given below:

Yemeumeuameummled ereneu @midloombdle TGLHL Lyl dujler GgTL_[fLienL_Liemel
@evenev?
(1) umevigevedle Ljwied
(2) @rsswloens Lyl s
(3) sdllysseneno s L Lb
(4) smegCemearL v srmidlyen
&G Qar@ssliul(Herer @Ot en 1 tweatLhgd sflwrer ufameos CoibosHSs6,Mm.
A:-(1) and (2) only
(1) wHpmid (2) b
B:-(2) and (3) only
(2) bpmd (3) LWL
C:-(3) and (4) only
(3) wopmbd (4) LL(HD
D:-(1) and (4) only
(1) wpmd (4) wLL(HD
Correct Answer:- Option-D

Question6:-Present President of UNICEF
WefltelGer sHGUTMSL Senaveury

A:-Julian Huxley
s79a0lwer amseved]



B:-Maurice Pate

wriflev Gui

C:-Catriona Laing

CaLl_fGumeT eneml

D:-Catherine Russell's
Cass e raeven
Correct Answer:- Option-D
Question7:-The name given to the boundary between mantle and core of the earth
Cuetmigeb HmID LBluflenr epowiliLi@déE @enLCu 2 6Ter erevanard @, tlsmH&ssuL L
Quuwry
A:-Mohorovicic Discontinuity
CrCanrGrmelldls 4 evseariqaillig
B:-Bullen Discontinuity
L|G0GVET lg 6lu&euTlq &oflL g
C:-Lehmann Discontinuity
ClevamLoeir g 6V&euTlq eofl L lg
D:-Gutenberg Discontinuity
GLLeGLUTS 1q-60S60Tlq-60TL Ly
Correct Answer:- Option-D

Question8:-Which type of map portrays a specific spatial distribution or category of
data?

THS eUENSWITET euenFUL LD GO L aNBCLTED Sjdeg Sreflen cuensemuls
555N s8mg?

A:-Physical Map
Quinwied euenyUL LD

B:-Thematic Map
S(HLIGILIT(HET uenFLIL LD

C:-Cadastral map
SHITLTGVL_TEL QUETLIL_LD

D:-Topographic Map
BleotiLrliL) euenrLL LD

Correct Answer:- Option-B

Question9:-North East Trade winds blows between which pressure belts?
ULSP&@ ufS586 STHN 6Ths SH(PSSLILIL L &EHEE GG aiadlng?



A:-Sub tropical high pressure belt in the north and equatorial low pressure belt
QUL &HE glanewT GleulILETL_ e 2 WIF 4(PSF el pmid LnsHuCreans @Gamnbs
3PS5 Gl

B:-Polar high pressure belt and subpolar low pressure belt
Sl(HeU 2 W S(Pss (UL HmLD Gt gi(Hed GmDhs A(Pss L

C:-Sub tropical high pressure belt in the south and equatorial low pressure belt
Cgsméle o erer glenew GleulILIE@TL 0 2 WF S(PsSF el Hmib LnsHuCrens Gaophs
S(WP55 udL

D:-Sub tropical high pressure belt and sub polar low pressure belt
glanent GleuILDERTL_ ) 2 WY (PSS GO LHMILD FHlenamr Gi(Hed GHMDHS (PSS GlLiedL

Correct Answer:- Option-A

Question10:-Which of the following statement is/are correct about the Eastern
Coastal Plain of India?

(i) Itlies between Eastern Ghats and West coast of India

(ii) It extends from West-Bengal-Odisha border to Kanyakumari

(iii) The plain is known as Konkan Coast in the north and Malabar Coast in the
South

(iv) The plain is drained by Mahanadi, Godavari, Krishna and Cauvery

@ndwrefen &ips@ sL_hsamy Fnblelafl LMl Yeareumd shmseic ergl/erencu Ffluimerg)?
(i) @& dps@s sTiss bawsErsEb @bslumeier Cn@s &LHesmydHE@GHD
@eLullé o ererg
(i) @& Cop@-cuniser-elq T eraameulled(mhg searaflwmn@wfl cueny Sewr(Hererg
(iii) gwleuel cuLsdled Casmmhiser sLDamy eramd CeHEld UMy sLHaamy
eTemmID SenLp&SLILI(HS D)
(iv) gwleuad warwS, Camsmeurl, $magentm LHMID SmedlFluimed
as LULGEns)
A:-(i) only
(i) LG
B:-(iii) and (iv)
(i) wHmD (iv)

C:-(ii) and (iv)

(ii) wHmih (iv)
D:-(iii) only

(i) U Gb



Correct Answer:- Option-C

Questionll:-The location of Agricultural research centres in Kerala is given. Which
of the following is correctly matched?

Carermelley Gouermenr <y ymiids enwmisailer @b GaT(hEsiuL (heTeng).
Yeeu(meuemeummdled ergl FFlwmgl QummhbgISEng?
A:-Central Tuber Crops Research Institute Kerala (CTCRI) - Thiruvananthapuram
Geerged Lujuy dpmiev flars @emevigul Cayerm (CTCRI) - SmeuenbgLFn
B:-Central Plantation Crops Research Institute (CPCRI) - Ernakulam
GFemge LGerenGLager Slymlie flars @ermeviqu (CPCRI) - erijemrm@erid
C:-Indian Institute of Spices Research - Kasargode
@bSlwer @ereviq Ll Ll evepLiFev flFFs - srefCam(h
D:-Rice Research Centre - Kozhikode
Qren flars Ageriy - CamhlsECa(h
Correct Answer:- Option-A
Question12:-Which of the following is a latest version of GIS Software?
Getreu(Heuaeupiled ergl GIS QuenGummefien FlLGHw LILiL?
A:-Intergraph
@Sl oL
B:-Arc GIS 10.8
<785 GIS 10.8
C:-Arc View
2 7& el
D:-Map Info
QUMILIL S S&H6UE
Correct Answer:- Option-B
Question13:-New Economic Policy Introduced in India 1991 covers
@nslumeiler 1991 @6 MlpsliL(BsSsLul L HEw Qurmerngmré Gemerans
A:-Stabilization reform Measures
2 MHILMSSD ETH (5SS BL GG SMSBEET
B:-Structural Reform Measures
sl Lanwli TS (HSS BL 6l SSSET
C:-Both (1) and (2)
(1) wpmw (2)

D:-Environmental policy measures



FHMFSHLHD CSTETnNs HL6llqSn&HsHaT
Correct Answer:- Option-C

Questionl14:-Central Government's non-debt receipts comprise of
(i) Tax revenue

(i) Non tax revenue

(iii) Recovery of loans

(iv) Disinvestment receipts

LSS DTHle HL 6T HHDOTG FEHIFHET @QFd L hi@HD
(i)  eufl cumeuml
(i) eufl @eberrs u(mHEML
(iii) sLamsamer SlHbUL GlumigeD
(iv) wpsad® ellevdE régiser
A:-(i) and (ii)
(i) womd (ii)
B:-(i) and (iii)
(i) womid (iii)
C:-(i), (ii) and (iii)
(i), (ii) wHmd (iii)
D:-All of the above

CuGe 2 6TeT DenarsgID

Correct Answer:- Option-D

Question15:-Government fixes Minimum Support Price of 22 mandated agricultural
crops which consist of

22 sl Lmw efleusmu LUTSEEHESE G@DBESLLS 4 556] 9Nl HFFTHBISLD
Blremruiggiererg
A:-14 Kharif Crops, 6 Rabi Crops and 2 Commercial Crops
14 g0 uulyser, 6 pm Luljser wHmb 2 euenllsl Ludjsar
B:-10 Kharif Crops and 12 Rabi Crops
10 srifo.Ls uulgger womid 12 gmd Luliser
C:-12 Kharif Crops, 6 Rabi Crops and 4 Commercial Crops
12 gl uulyser, 6 pma Lulyser wHmD 4 euanflsl Ludjadr
D:-9 Kharif Crops, 10 Rabi Crops and 3 Commercial Crops
9 sifo.l1 Ludgsar, 10 gmd Ludjser whmbd 3 cuenflsls Luliser

Correct Answer:- Option-A

Question16:-P C Mahalanobis model on Indian Five Year Plan
(i) Emphasis on development of capital goods industries



(ii) Emphasis on development of consumer goods industries

@S gpsTarhs S gl P C Mahalanobis wrglifl

(i) epogers Qurmlser gmaosafler eueTi&dsa@ (padlwsgiald

(i) mesrCeury QurmLger Ggreogeailan cuaTi&flss, (PeEdlwsgiald
A:-Both (i) and (ii)

(i) wpmd (ii)
B:-(i) only
(i) (W
C:-(ii) only
(ii) L (Hw
D:-None
@ ema

Correct Answer:- Option-B

Question17:-Which of the following is/are correct about Pradhan Mantri Fazal Bhima
Yojana (PMFBY) 20167
(i) To provide insurance coverage and financial support to the farmers in the
event of crop

failure due to natural calamities, pests and diseases
(ii) To stabilize the income of farmers to ensure their continuance of farming
(iii) To encourage farmers to adopt innovative and modern agricultural practices

rsmen B oeLiged Liom Guirggarm (PMFBY) 2016 e lermeu(heuameupmled 6rg)
Ffluneng)?
(i) Qubems Edprsdr, yFser whmib Crriser Ludfléd huLl LT
clleugmuilsEnsE smiliH wHnid HlF 2 g6l auphiGH®
(ii)  efeusmuisafler aumeurenw HlenawliLi(hsS edleusmubd CFlieuams 2 mdl Clalge
(i) ygemwwrer LHMID Beler eleusmw WpevpEemear WerLHD elleugTulEamar
2618 (G615 E 60
A:-(i) only
(i) LLGD
B:-(i) and (ii)
(i) womid (ii)
C:-(i), (ii) and (iii)
(i), (ii) wHmb (iii)
D:-(i) and (iii)
(i) womid (iii)



Correct Answer:- Option-C

Questionl18:-RBI's targeted liquidity support to the system in 2021-22 included

(i) Special refinancing facilities of Rs. 66,000 crores to all India Financial

institutions

(i)  Term liquidity facility of Rs. 50,000 Crore to ramp up COVID related healthcare
infrastructure and services

(iii) Special Long Term Repo Operations (SLTRO) for small finance banks of Rs.

10,000 Crore

(iv) On-Tap liquidity window of Rs. 15,000 crore for contact intensive sectors

(v) Extension of On Tap Targeted Long Term Repo Operations till 31st December

2021

2021-22@)é SieowldhE Nefe amfuler Qaés LamMILpESs o576 Qaniins
CefésIul (erers)

(i) fpdy vyBdwueilliy eusdaser ap. Rs. 66,000 Camgser oo @bslw S

15l M 6L GUTIBI & (615 & (3

(i)  sre uamTlyWss ausd ep. 50,000 Gamg Carelll Qgmjurear &gy

Caeneuant Fl&fés o 6Tal LanliL womib Camaels@hsd,

(i) Am HF euridlsEnsarer ApliLy FarL sre QruCur Gewour@sdr (SLTRO) €.
10,000 Camig
(iv) <per-Lml uenrliypés smerpd ef. 15,000 Camg QsmijL $647 gienns@heE
(v) 2021 gabur 31 aueny Ll Lrf@sl farr sre QiiGur Qewdumbhsamar
BLlag iy

A:-(i), (ii) and (iv)
(i), (ii) wHmID (iv)

B:-(iii) and (iv)
(i) HmD (iv)

C:-(i) and (v)
(i) wopmd (V)

D:-All of the above
CuGe 2_6TeT DenarsSgID

Correct Answer:- Option-D

Question19:-Which one of the following statements is/are correct related with
Finance Commission in India?

(1) First two chairpersons of Finance Commission were former Union Cabinet
Ministers

(2) Kerala State Finance Commission submits its recommendations to Chief
Minister

(3) Finance Commission's recommendations are mandatory in nature



(4) Finance Commission shall have powers of Civil Court while functioning
HlE < amenTwsgIL e QgmiLenL i lereumd iMsamasated ergi/creneu Fiwimeng)?
(1) B Cunsdlen (psed @) SEMOEUTSHET (LPEITGTTET LSS DNDFFTENEL
S DDFFTGHET
(2) Gaper wrhle HlF yamenTid Sang LRHSIMTHMET (PSOENDFFFILLD
sILNSSg
(3) B wCursdler ufbgimyser Qubasuild sl L muib
(4) B oCwrs Qewdu@n Curg felld BHweansdear Hsmrhsmand
Q& meTiq (H @D
A:-(1) and (2)
(1) wpmw (2)
B:-(2), (3) and (4)
(2), (3) wHmD (4)
C:-(1) and (4)
(1) womib (4)

D:-(1) and (3)
(1) womib (3)
Correct Answer:- Option-C

Question20:-At the Union level, Subordinate Legislations are framed and notified in
the Official Publications by

welwer L g, giamend gL mser 2 (haumdsliul () dsmriyie Geuafluihsatie
@g siMelssiiuhSlermen

A:-The Law Commission of India
@BSlw s eI

B:-The Ministry/Department Concerned
DIMIDEFESID/GIED FOLIBSLILILL G

C:-The Supreme Court of India
@Qpdw 2 &5 Fdloemmbd

D:-The Parliament of India
@BSlWL BTLmEpLeTmLD

Correct Answer:- Option-B

Question21:-Match List - | (Major Constitution Amendment) with List - [l (Minister
who introduced the Bill) and select the correct answer using the code given below:
Constitution Amendment Minister who introduced the Bill



(1) Amendment 44 (1) Sharad Pawar

(2) Amendment 73 (1) Shanti Bhushan

(3) Amendment 97 (I1) Ravi Shankar Prasad
(4) Amendment 104 (IV) G. Venkataswamy

uligwied - | &g (wpsdlw opflueeanoliinyg Smssb) uligwe - I (nGsrsreane
SMPpsLLOSH L Sevésy) o Ler ummsd, $Cp Qarhissiul (Hearer @oluilenL Ll
vweru(hgd sflwrer ulemasd CaibolsHEHD !

SirflweenoliL) HmSsn LCFTFTEN6L STESHD CFUIF HELDFF]T
(1) SHmssd 44 () &rg ueury
(2) Smsswd 73 (1) smhd Leger
(3) Smssw 97 () el gmisy Wysnsg
(4) JHmss 104 (IV) G. Qeumsl g

A:-(1)-(1V), (2)-(111), (3)-(1), (4)-(Il
B:-(1)-(111), (2)-(11), (3)-(1V), (4)-(I
C:-(1)-(I), (2)-(1v), (3)-(1), (4)-(n
D:-(1)-(1), (2)-(1V), (3)-(11), (4)-(1ll
Correct Answer:- Option-C

)
) )
) )
)

Question22:-Consider the following statements:

(1) Kendriya Hindi Samiti constituted in 1969 with Prime Minister as Chairperson
(2) Department of Official Language was formed in 1975

(3) Parliamentary Committee on Official language was formed in 1976

(4) Article 348 discusses about the language to be used in Supreme Court and
High Courts

Which of the statement given above is Not a correct one?

Yoo (HLD AMSMEHEMETE &6 6 W hIGET:
(1) GCspdflu adbdl 5108 1969 @é 1955w LHIFamw SenaeurTs
2 (HEUMGSLILILL G|
(2)  <i@ieued Qmplggienm 1975 @ o (Heurssiil L g)
(3) 288Cunsyeu Gomfssrer Lmrm@EpL6DS @&(p 1976 @ o (HeurssliuLl L g,
(4) 2.&s fwerpd wHmbd 2 wi FHwermhisaid LweLESSLILHD Comg L)
348aug) Yflay eleundladlmg
Cule GarhissliLl (heter sapmigaicy erg FFlLmeg iede?
A:-(1) only
(1) i @b

B:-(2) only
(2) b (Hid



C:-(3) only
(3) L (b

D:-(4) and (1)
(4) womibd (1)

Correct Answer:- Option-A

Question23:-As far as Advocate - General of a state is concerned
(1) Qualified to be appointed as judge of High Court and, the person is barred
from

appearing for any private individuals and firms.
(2) Appointed by State Governor in accordance with Article-165.
(3) Give advice to the State government upon such legal matters and any other
assigned to

him/her by governor.
(4) S/he is entitled to participate in the proceedings of both Houses of State
Legislature and

committees with voting power.
Which of the statement given above is/are correct?

@ wrblogdler 9 auGsL - Cnearmamers CQUTmss ey
(1) 2w Bwam pHudurs HubissiubesnEs s@dumaf Cogib, Sibg
BUTT eTHS6eum(h Seflwmy SellBLFSET HmILD Hlmiewemnis@h @ <L TTs
sanL_ elldlas i’ (HeTerg.
(2) o muyemy-165 Qe Ll wrble <,EpBrTe® HlulEsiuL L g)
(3) <ssmsw s LLiyfel eNagBISET HDID L@HBITED 6U(HEE/<D6U (@H&S;
@g1HsUIULL Cauml 6Thg ellagSHanid rble oiFss@ <,CorFamet aLpnIgGeTLD
(4) wrbleo s LbaTnSSlen @) Semauseiiad euTsEsHeN&E@HD ASlsmrD Clemerr
G(p&satlen BLoulgsamasataid LRCHNHE e/ el [HsE, 2 FlanLow]er ()

Cwlo arhssiul_(herer MlEenssate 6Tl iflwmerg)?

A:-(1) and (2)
(1) womib (2)
B:-(2) and (3)
(2) bpmib (3)
C:-(3) and (4)
(3) wHmib (4)
D:-None of the above
CuGe ergla|b @eene

Correct Answer:- Option-B



Question24:-Consider the following statements regarding National Green Tribunal
(NGT) of India:
(1) National Green Tribunal has other sitting of places in Kolkatta, Chennai, Pune,
Bhopal

and Chandigarh.
(2) They are appointed for a period of five-years and eligible for re-appointment.
(3) The NGT comprises, Chairperson, Judicial Members and Expert Members.
(4) Justice Swatanter Kumar was first chairperson of NGT.
Which of the statement given above is/are correct?

@nslumeiler CaHw Lisamd f;l'juurru_lLb (NGT) Qgrijumenr lemeaumd iM&Eenssemers
Souefl | mI&eT
(1) Csélw usenwo SFlumub QerosssT, Ceaear, LiCer, CumuITE wHmILD L))
< Fw @ miseafler LHD @)L migeners Csmea(HeTerg.
(2) <eufser gpgrea( sTosdna@ HlublgEsiuBEnriser wHmib wm)
BuwardlnG s@éluemLwefser.
(3) NGT, gewaveuiy, BHsgiann @pdluicupenm 2 erer_sHwg o milnderyger whmibd
Bl o milieniser.
(4) BHuS eveugps T @GOTT erannedliquilen (LPFHED SMHOUTTE @) (HHSTH.
Cule QarhssliLl (Heter sanmiseiey ergl/cTenen FHlwimerg)?
A:-(1) and (2)
(1) wpmw (2)
B:-(2), (3) and (4)
(2), (3) wpmd (4)
C:-(3) and (4)
(3) womib (4)
D:-(3) only
(3) b (Hid

Correct Answer:- Option-D

Question25:-The President of India can't exercise veto power with respect to
(@) Money bill

(b)  Financial bill

(c) Constitutional Amendment Bill

(d) Private Member Bill

Qidu @rwirss sooaf oiLCLr adsmsas QepPldEl LLELOSS (Pigwg)
(@)  wewr wCarsm

(b)  Fld wCemgm

(€)  <rflueeanwliy Hmss wCsrsT



(d)  sefllulL o milery wGargm
A:-(a), (b) and (c)
(@), (b) wHmid (c)
B:-(a) and (c)
(@) wHmib (c)
C:-(a), (b) and (d)
(a), (b) wpmid (d)
D:-(a), (b), (c) and (d)
(@), (b), (c) wpmib (d)
Correct Answer:- Option-B

Question26:-According to the Constitution of India, what is the criteria for
determining the total number of Ministers including the Prime Minister in the
Council of minister?

@S srHweewiier Lig, GrswF o L (brss Dewssisater erameamisamaeanl
Blewribd CFlieugharer 2jere]Gsme eremer?

A:-Not exceeding fifteen percent of the total number of members both Houses
of the Parliament

BILT@heamEder @) Siameusafler Grss cramanisamauier LuSearbg FseissH D@
L& TLOED

B:-Not exceeding twelve percent of the total members of the Lok Sabha
ésereneuudler Congg crarantlsamauier Liatall6ram(h Fseissdn@E Wsmnd ©)mes
Gouemr(hLd

C:-Not exceeding fifteen percent of the total number of members of the House
of the People

&ESET wetpdden Gorss o nilifeaniseaiien crareantsamauier LFamabg 561553 DG
W& Toed @\(MmEs Couemr(Hb
D:-Not exceeding twelve percent of both the Houses of the Indian Parliament
@pSHw Brmepemsdler @) Smeusaflaid Leataltream(h F5aissHnE WaTED
Correct Answer:- Option-C

Question27:-The theme of SUJALAM 2.0 campaign is
SUJALAM 2.0 p&smygglem &(mL16lLmmerr

A:-Grey water : making the invisible visible
gmbued B : sarams@s QsHurgamnss srams Calige

B:-Ground water : managing the invisible visible
Blogglg BF : samans@s Qsflursamss srean bHlieudlsse



C:-Ground water : making the invisible visible
Blossly B @ samans@s sflursamss sramd ClFlige
D:-Grey water : managing the invisible visible
gmbue B : sarams@s Qsflurgmss srenr Hlieudlssa
Correct Answer:- Option-C

Question28:-Which among the following statement is/are true?
(i)  All executive actions of the Governor of a State shall be expressed to be taken
in the

name of Governor.
(i) There shall be Council of Ministers with the Chief Minister at the head to aid
and advise

the Governor in the exercise of his functions except in so far as he is by or
under the

Constitution required to exercise his functions or any of them in his discretion.
(iii) The Governor appoints Chief Minister and other Ministers.
(iv) A person to be eligible for appointment as Governor should be citizen of India
and has

complete age of 30 years.

GeTeu(HD FmDHMmISETed 6TEI/eTEn6L 2 GHTEnLDWITEE)?
(i) @ wrbleo 2 EpBIeT Denansg HlFeUTs HL 6y SMmEHEHD b, EHbiler Cluwifle
T(H&SLLBHID eremm GeuafiLBHSSLILI(ILD.
(i) <peppRear Qeudur@smard QeuduBsgeugsHEGD 2 g6l CFiieughHEL
2,CTFmET QULPEIGEUSDGLD SN AMDFFMTE ClEHTEITL HEDLDFFTSHET &P
Sjaurg) adlmLiyflenouded @)m& s GoueT(HLd.
(i)  <UEBBT PFHOMOEFHTULLD DM HEDDFFTHEMETUILD BlILSGS DT,
(iv)  p@pprns flubléss s@uamw @raf Qbius G oaas &) hés
Geuamr(hd wHMID Aeurg alwg 30 yar(Hser Hlannalanl_hSlHEss Couem(Hib.

A:-(i), (ii), (iv)

B:-(i), (ii), (iii)

C:-(ii), (iii), (iv)

D:-All of these are correct
@lenel METSFID FFlwmaTenal

Correct Answer:- Option-B

Question29:-By the NITI Aayog's Multidimensional Poverty Index, the headcount
ratio for Kerala was

NITI <,Cuingdlen Lo Lflwment eumenod GO g eiiilg, CETeTTESETET HEnEELD
cranrenflsena cildlsLd
A:-0.71%



B:-0.51%
C:-0.21%
D:-0.15%
Correct Answer:- Option-A
Question30:-Which among the following programs and their purpose is/are

matching?

(i) Sulekha - Plan Monitoring for decentralized planning at local level
(ii) Sanchaya - The Revenue and Licence System

(iii) Sugama - Cost Estimation tool for public works

(iv) Sachithra - Map suite (GIS) and asset register for local governments

YemeumLd BlrebgeT Hmib eupblen Crrésbd ergi/erancu QLITHHSIS DS ?
(i) &Coar - o emEni L LSS0 LFeuTEsILLL S L O gi&sHmer L
ST TETILIL]
(i) sepswm - eumeur LHMID 2 o el
(iii) sswr - Qumgl ueilsEpssrar Cewanel LHUGAHLD Hmedl
(iv) &8lgpm - euenpuL g gLy (GIS) wHmib 2 6@ | F&TmhIgHnI&@EHsS e
Qemsgil Ldley
A:-(i), (i), (iv)
B:-(i)
C:-(i), (iii), (ii)
D:-All are matching
Sag gD ummBEIE DG
Correct Answer:- Option-D

Question31:-Golden Boot Prize Winner of World Cup Football 2022

2 && Carlienu smeouhgl 2022 @lem Camear Ly Lifle Gleuemmeur

A:-Kylian Mbappe

mFHlwe eroumiGL

B:-Lionel Messi
ACwimested Gleed

C:-Enzo Fernadez

erearGenm GlLIFeTTL_6

D:-Emiliano Martinez
eridleSlwnGerrm i Glesren

Correct Answer:- Option-A



Question32:-The objective of the Abhayakiranam program is
Sjuwdlganrbd BlspsHuler Crresid
A:-Maternity benifit scheme with an aim to compensating partial wage loss,

improve health seeking behaviour, improve nutritional status and to promote
exclusive breast feeding.

wslCUM Beenog SHlL b, UGSl eadlwu @iy FHCFuLD CrrésssgL 6,
2 Crradwsans CobUOSIHID BLsms, oal | 5558 Hlanoaw CobuBSgige wHmiDd
GrgHCws smuLLTGD 2ard@eldse

B:-Financial assistance to widows for self employment and better living for
their families
swlsmdled wHmid Seufsaflen @&HLUBSERSE HDhS MPEMEEETS 6llsenals@hsE bl
2 56

C:-To provide a safe and better living environment to destitute and Homeless
widows
<Y STUHD LOHMID I DD NsmealsEh&E LTGISTUILTET HMLD HDHS UTPSMSE @ LHH
GULPTRIGHS

D:-Mangalya Scheme for Widow Remarriage
cllgeneu maTSSHETeT wmhiGOHW S L 1D

Correct Answer:- Option-C
Question33:-POCSO Act come into force on
POCSO &L 1b DQI&HE, UbBSS)

A:-14th November, 2011
peubLy 14, 2011

B:-14th November, 2013
peubLy 14, 2013

C:-14th November, 2014
peubLy 14, 2014

D:-14th November, 2012
(@@Ju')ul'j 14, 2012

Correct Answer:- Option-D

Question34:-With regard to zinc

(@) Zinc is a constituent of Carbonic anhydrase

(b)  Zinc is a constituent of Carboxy peptidase

(c) Zinc is a constituent of Cytochrome oxidase

(d)  Zinc is a constituent of Alcohol dehydrogenase
Choose the correct answer from the options given below:

SI5SBI&D CSTLFLTS



(a)
(b)
(c)
(d)

FISSBIED eremlg) &TGUTeaisd emenanl Credle e(h <HBISLOTEGLD
SI5SBIsLD eremig) smrUT&ES GluligCLeller em msmELD
8155Br&D el CLrsCrmb e85 GL 66 e(h IBISLDTELD

SISSBISHLD CTETLG A FHaDTe) leenaml CrmallCerenlen e iBISLOTELD

&G Car@&sliulHerer almLiukisaiedmhg flurear Lmead Csrb0s(H&Ha|D

A:-(b) and (d) only
(b) wHmib (d) wL_(Hb
B:-(a) and (d) only
(a) wHmib (d) w_(Hb
C:-(a), (b) and (d) only
(a), (b) wHmbd (d) LI Gb
D:-(a), (b) and (c) only
(@), (b) bPHmID (C) LLHLd
Correct Answer:- Option-C
Question35:-Identify the molecule:

APEEERENM DML ITETLD STETELD

OH
N

O

A:-Cannabinoid

aeeotmiSl et ()

B:-Coca alkaloid
CarCam g

C:-Morphine
oL eor
D:-Benzodiazepines

CuenGamg wnblaemLinser

Correct Answer:- Option-A

Question36:-Which of the following match is incorrect?
GemeumLd QUTmSSBISND T8 Seummeang)?

A:-Rhino virus - Corona virus

MGarm eneugev - QeETErmeT eneuren

B:-Human immuno virus - Polio virus



wetls @bwGerm eneurgen - CuTellGWIT eneure

C:-Adeno virus - TMV
9liq Cerm eneugev - TMV

D:-Influenza virus - Measles virus
860 o LIEEHUIGITAVIT GHEUFED - SL_L_LDENLD GHEUFE
Correct Answer:- Option-C

Question37:-Who is/are the winner of 2021 Nobel Prize in Physiology or Medicine for
the Discoveries of receptors for temperature and touch?

Qeutiubleney wHMID QFTHSVIGSHTET FHIlEemeTs Hem(HilgS5550ETE 2 Ll g
msgleusSnamer 2021 Crrue uflens Geuemmeury wimry?
A:-David Julius and Ardem Patapoutian
CLaeill eg9allwien HmID TG LD UL Ll g uier
B:-Benjamin List and David W.C. Mac. Millan
GuEpadlen edlevl wopmid CLalll W.C. Gwé Wlevever
C:-Syukuro Manabo and Klans
Swy@Crm wermCGu wHmID FleTmemen
D:-David card and Joshua D. Angrist
CLeill smy(h wHmibd GCearseur D. <y miflevl
Correct Answer:- Option-A

Question38:-Two masses m and 4m projected vertically upwards from ground at the
same time with a speed of 10 m/s, when it is returned to the point of projection,
which of the following statements is true?

Qe Hleppager M wHmid 4 M YHwemes @Cr CrrsHer 10 /el Coussdlear senyulled
@b QFmi@Gssms CoaoGEradls Cadeaib. LGrTayen LdraflsE siamel SHmmbla
aumLCUTgl, Spsameupidle 6rbg gmpm Fflwmerg?

A:-Both masses returned to the point of projection at the same time and with
same speed 10 m/s
Qe HlanpaeEsn Gy Crrsdd womb 10 /69 9Gs Coussdled cubsemL LD

B:-The mass m returned with a speed of 10 m/s and 4 m with a speed of 40
m/s at different time

Blenm M yeargl 10 m/s CaussSlaid Blenm 4 m yearg 40 m/s Caussslanid GleusuCGam
Cprsdla Sntug

C:-The first mass m returned to the point of projection with a speed of 10 m/s
in 2 seconds, and the mass 4 m with a speed of 2.5 m/s in 2 seconds

W@ Hlenp M yergl 2 eflemmgsaficdr 10 /6l CoussgiLen whmid Hlenp 4 M 2y eang) 2



ey safled 2.5 /6l CousggiL e LGEFTEsmgmgen LieTaflé@ Smbiawig

D:-Both masses returned to the point of projection taking equal time but with
speed 10 m/s and 40 m/s
Qe HlevpaEpbd wwrear Crrsams oaThsgsbatam®, 10 /6l whmbd 40 Wb/ed
Causgdler LIGpmilenaage Lematls@, Smbdlwig)

Correct Answer:- Option-A

Question39:-A spring balance is tied to ceiling of a lift reads 10 N when it is
stationary. If the lift is accelerating upwards with an acceleration of 10 =/s2. The
reading shown in the spring balance is (take value of ¢=10m/s2)

avlalflim Guevetav e Ol g6 2 FFaurbLLe L LU g HE@&W0 Cungl <ig 10 N o8
@m&EWw. Ul 10 wWell p(H&ss5EIL6m CaoGHrad (p(H&Hls CgreamrLme evdlfin
Cuevemadled smL_ LD SjeTe] s=10m/s2) (@)arr Sliens eT(h&gIs ClsmeT(Enmhiser)

A:-O N

B:-10 N

C:-20 N

D:-5 N

Correct Answer:- Option-C

Question40:-The optic fiber cables, one of the main method of energy loss is
through dispersion loss. Which statement about dispersion is correct?

eaflullenlp Calderger, mmed @liber WSl panmsailad eemm Sgme @I pELD.
Slgmed PO 6T Fadm FFlwirerg)?

A:-Dispersion occurs due to the dependence of wavelength of light on the
refractive index of the medium
a1l _sgdlerm gaflcllovse @GNuiliqd geaflufer semaBerd b mLiLgTed fsna
FHuBE DS

B:-Dispersion occurs due to the scattering of light with the medium
26IL_&GGIL 6 el FHmed ErranTons Fsmed eFHL(HE DG

C:-Dispersion occurs only for white light with in a transparent medium
6(Ih SeTanTy. 261l &G dled Glouataner gpafludled I HCL Fsmed rHLBHE MG

D:-There will not be dispersion loss when we use monochromatic light source
Gy Blm eafl ppesamst LweaTLIHSSILELTE Fsme @UIL eHuLTg

Correct Answer:- Option-A

Question41:-The Nobel Prize for Physics in 2022 was awarded to Alain Aspect, John
F. Clauser, Anton Zeilinger, for their contribution in the experiments on quantum
mechanics. For their experiment they made use of

2022 <yib year(h @Qupilwagussrer Crmue Lfle GeumearL b @uissellwed Wamer



Camsanansatiler djeufseien LmigelIGnsETs Sienaen ,en6ILSL, Qe 6Tooll Slerms,
SjenLeir 360 mIET AHCLTHES eupBsILLL gl Seufsailern Comsmens@ ioufser Qs
vwer (hgSleoy.
A:-Entangled electron positron pairs
erarLmaidlem(h erevdLymen LTS grer Gegmiq &6
B:-Entangled light photons
GTeTL_MRISlGT(H 6artl o oGUITL_L metaerT
C:-Entangled electrons with opposite spins
TS} FLPGS(@ERL 6T GTGITL_MRISIET(H 6TeO&L_FTema6T
D:-Entangled positron pairs
eran_midlear(h Lmslgren Cegmig.ger
Correct Answer:- Option-B

Question42:-Which of the following statements are correct?
(i) Solder and brass contain Tin

(ii) Brass is an alloy of Copper and Zinc

(iii) Bronze is an alloy of Copper and Tin

eeumLd nmmisefled erg) Filwimeng,?

(i) sréoLy wHmb WssemeTulle 46T 2 cTerg)

(ii) Yssener crarLg) STOTD LHMID HISSBHTESS 6 &HEDENEWTEGLD

(iii) QeueirgHed eTemLg STIOFD LHMILD SHETSIET HEeneLMGLD
A:-Both (i) and (ii)

(i) wopmid (ii)
B:-Both (ii) and (iii)

(i) womd (i) @rewr(HiLd

C:-Only (i)
(i) LU @b

D:-Only (iii)
(iill) UG

Correct Answer:- Option-B
Question43:-Which law provides an explanation of how hot air balloon works?
GLIT&T STHM LIQNen ereueumn @ukGEng crarusnaren cllersssams cThs el
QUGS S ?

A:-Charle's Law

Fmieven cilg)



B:-Boyle's Law
umuiedler e
C:-Henry's Law
Gamemmludler e
D:-Avogadro's Law
Sjeusr_Cpm adlg
Correct Answer:- Option-A
Question44:-Which is the first element to be named after and Asian Country?
S FAw priiger QU tu’ L wpge saflob erg?
A:-Indium
QLR
B:-Nihonium
15l Gaun mevtlwiLb
C:-Gallium

STedlwiLd

D:-Germanium
Oegiomenfluib
Correct Answer:- Option-B
Question45:-Which among the following is included in "Dirty Dozen"?
Yereu(mouemeupdled ergl "Ll L Fafled" GCafasliLi’ (heterg)?
A:-Chlorofluoro Carbons
&CermGrmy@sCrm smyLemS6T
B:-DDT
C:-Methane
B8 Cg e
D:-Carbon Disulphide
SMTLET enLFeoemLI(h
Correct Answer:- Option-B

Question46:-The Indian Council for Cultural Relations (ICCR) functions under which
Union Ministry?

@QpHw seordsmy 2 pe sepssrar el (ICCR) 6rbg waHHw Sianwdsssdler S
CFweouBi S mg?
A:-Ministry of Culture

SHOTEFST] SEDEFFSHLD



B:-Ministry of Tourism

SGOMIEOT SINLDFFSHLD

C:-Ministry of External Affairs
Geuaflyme| SienLDFsSHD

D:-Ministry of Home Affairs
2_GTGIEND MDEFFHLD
Correct Answer:- Option-C
Question47:-Kambala is a distinct sport of which state?
U eThg Wrblasdlern seaflggialnmean edlanerwim’ (H?
A:-Gujarat
GRS
B:-Karnataka
SIBTL&IT
C:-Maharashtra
DS TITES [T
D:-Tamil Nadu
SLOIDHTH
Correct Answer:- Option-B

Question48:-In which country was the remains of the newly discovered human
species ‘Nesher Ramla Homo' found?

USlsnss seam(higssiul L el @earorear 'Cragfler ribeor CanrCom erésmiger 6hs
BTl 60 @) Sewr_dlwiul L g)?
A:-France
Qrmeen
B:-China
Eeor
C:-Russia
ToHUIT
D:-Israel
@evGirev
Correct Answer:- Option-D

Question49:-Nelliyode Vasudevan Namboothiri, who passed away in August 2021,
was associated with which dance form?

9 savl 2021 @6 smevwrer GpeedlCum@h eumaGgeus BOLEIS 6Ths BHLGT 6LlqaUSEIL 6T



Qsm_fyenLwieury ?

A:-Kathakali
5556l

B:-Kathak
555

C:-Bharatnatyam
LIFSBTL_Iq UILD

D:-Mohiniattam
Curélefwm_LLb

Correct Answer:- Option-A
Question50:-In which state is the Trirashmi Buddhist cave complex located?
Slflpraglsl Liss G eUeTTsHD 6Thg blogdled o ererg)?

A:-Maharashtra
MES T

B:-Tamil Nadu
SLOIDBTH

C:-Uttar Pradesh
2 557 97CsED

D:-Madhya Pradesh
wsHw GArGsed

Correct Answer:- Option-A

Question51:-A boat travels a certain distance upstream at 10 km/hr and the same
distance downstream at 20 km/hr. Find the time the boat will take to travel 40 km
upstream and downstream

e uL@ 10 /el Cousgdled wpenGCrredl e @HUAL L gmsamgud, Cs b
erGrradl 20 Si/wenll Cousgsdad Lweailsdng. L@ 40 S WperCprédl wHmb
YerCrpradl Lweantlss eThsE Crréeamnss SHeTL_Hlueb.

A:-6.5 h
6.5 waenfl

B:-6 h
6 Loewtl

C:-7 h
7 wewfl

D:-5.5 h



5.5 wewfl

Correct Answer:- Option-B

Question52:-The difference between selling prices obtained after a single discount
of 30% and two successive discounts of 20% and 10% on the marked price Rs.
20,000 of a product is

e swrillber @lssiul L ellena ep. 20,000, e wpanm 30% gem@EpLilg womid 20%
wHmid 10% ySwu @ren® CFTF&flumen SeT@EpLys@Ehs@L Mm@ Gumliu L
adlpuenen ellenasEhsE QenLCul o éTer allGSHITFD Sres.

A:-Rs. 4,000
em. 4,000

B:-Rs. 300
em. 300

C:-Rs. 400
em. 400

D:-Rs. 440
em. 440

Correct Answer:- Option-C
Question53:-If X means +, Y means -, Z means / and P means X, then (4P3) Z6Y2
X ererpmed +, Y erermmed —, Z eremmmed / opmid P erermmed X, ererflen (4P3) Z6Y2

A:-0

B:-2

C:-1

D:--1

Correct Answer:- Option-A

Question54:-Raju has a certain average mark for 8 subjects. In the ninth subject, he
got 90 marks thereby increasing his average by 9 marks. His new average is

pmege 8 UML_m&@Ehs@ GO srmafl wHlGuer QupmieTerTy. eerusmeug LT _sdle,
Sjau 90 wFUGueTET QUuODTT. Q&6 epeld eurg Frmaflenw 9 Gl LewTSeT
SHENSSMT. Djeurg LSlw syrarjl

A:-80

B:-19

C:-9

D:-18

Correct Answer:- Option-D
Question55:-If the 20th term of an A.P. exceeds its 9th term by 22, the common



difference is
e A.P. e 206ug) sremeng Sisem oug 1SS 22 A6 Jnl lgemnme, GlLTgieamer
Ceaumiuim(h

A:-1

B:-2

C:-3

D:-9

Correct Answer:- Option-B

Question56:-A clock is set right at 1 PM. The clock loses 16 minutes in 24 hours.
What time will the lock show when the true time is 7 PM on the 4th day.

@@ SlqHMID WD 1 wanflsEe sflwuns Samwssiul(Herargl. suarrb 24 et Crrsdle
16 flll_risemer Q&Slmgl. 4eug Breflen o arenowmen Crrb @re| 7 wenfluims
@m&ELCeUng SgsTy ebg ChIsmss Sramis@Lb.

A:-6 : 08 PM

wrenew 6 : 08

B:-6 : 56 PM
wrenHey 6 : 56

C:-7 : 56 PM
wreney 7 : 56

D:-7 : 08 PM
wrenew 7 : 08

Correct Answer:- Option-A

Question57:-If it is possible to form a word with the first, 4th, 7th and the 11th
letters of the word 'SUPERFLUOUS' write the first letter of the word

'SUPERFLUOUS' eremp aunisenguller 1, 4, 7 wpmib 1leug) erpsgissamanns Csmeanm(h e(m
Camened 2 (HeUTES (PlgbSTE, ABS UTTSMSUNET (PSSO 6T(LPSNS 6T(LPSHELD.

A:-S

B:-L

C:-O

D:-E

Correct Answer:- Option-B
Question58:-The next term of the following letter series will be EH, JK, ON, ?
Yeeu(md er(pSsIsS Csmiflen o(hss Geme EH, JK, ON, ?

A:-UQ

B:-TQ



C:-TR
D:-UR
Correct Answer:- Option-B

Question59:-A and B start from a fixed point, A moves towards east and after
walking 7 km, turns to the right and covers 9 km, B moves towards west and walks
8 km and then turns to his right and walks 11 km. Now how far are A and B from
each other?

A bpmib B ypflwieneu e Hlancowirar Lerafludalmbg Osrimidl, A Slp&e Crréad bsibs
7 S pLBS D@, cuewg LGsD Sl 9 iS5, B Gone Crrédl psiba
8 SIS pLbg et cuevgiLmid Sl 11 SIS pLsdlermery. @UGLirg A wHmib B
Q@MU (HSEST(HeUT creueleTe] Gigmeanaelley o drereny?

A:-15

B:-20

C:-25

D:-18

Correct Answer:- Option-C

Question60:-Find the missing number
0, 6, 20,42,72,7

NHULL TS STLHlWieLD
0, 6,20,42,72,7
A:-106
B:-112
C:-110
D:-108
Correct Answer:- Option-C
Question61:-The boy never did his homework, ~?
A:-did he?
B:-didn't he?
C:-does he?
D:-don't he?
Correct Answer:- Option-A
Question62:-The more she scrubbed, the it looked.
A:-shiny
B:-shining
C:-shine
D:-shinier

Correct Answer:- Option-D



Question63:-We must take the child home. Change the sentence into Passive Voice
A:-The child must be taking home
B:-The child must be taken home
C:-The child must taken home
D:-The child must take home
Correct Answer:- Option-B
Question64:-My colleague put forward Unique idea.
A:-some
B:-a
C:-many
D:-an
Correct Answer:- Option-B
Question65:-Would you mind if | the music now?
A:-play
B:-plays
C:-played
D:-playing
Correct Answer:- Option-C

Question66:-I could hear the seemingly buoyant steps at the door. The synonym of
the word - buoyant

A:-muffled

B:-cheerful

C:-noisy

D:-unhappy

Correct Answer:- Option-B

Question67:-A ream of paper
A nest of mice
A of stars

A:-herd
B:-fleet
C:-bunch
D:-galaxy
Correct Answer:- Option-D
Question68:-The film star __ his new luxury car.
A:-floated
B:-flaunted
C:-floored



D:-flounted
Correct Answer:- Option-B
Question69:-Ray _ while his mother was talking to her friends.
A:-cut in
B:-went after
C:-looked forward
D:-put out
Correct Answer:- Option-A

Question70:-They told their alma mater in high regard and often visit the place.
Alma mater is their

A:-Church
B:-Hometown
C:-School
D:-Office

Correct Answer:- Option-C

Question71:-gmaenoll Leenld Genpgaer Badl er(pgs
A:-upeneuser @enr Cslg DHMmOBSS)
B:-umeneu @eny Cslq jenevbg e
C:-upeneu Sjmanbsear @ear Cslg
D:-upenaiser @any Cslq Sienahser
Correct Answer:- Option-D
Questi0n72:-ae;|c_if)ésasrr@1|Lb Qempgefles GUTMmBEST ClFTOLMOS &(HSH
A:-emousenm
B:-Cws&wbd
C:-BewTLIS 0
D:-omenev

Correct Answer:- Option-B
Question73:-'Awareness' eratn Y midlews CFmwaisEE@ Qemeamureas SLOPFClFTED 6Tg)?
A:-ell QI emTTey

B:-Csg o awrie



C:-Boaiemrye
D:-upmpanrie,
Correct Answer:- Option-A
Question74:-'ur' - ereid @UT(WPE MGWLTLY o @rFsgID Clummer
A:-curL_oo
B:-<gyL v
C:-CsLeb
D:-umio
Correct Answer:- Option-D
Question75:-'@flw’ eratugen Tl FECIFTED H(HS
A:-s1q W
B:-&Mlw
C:-eraflw
D:-Quifluw
Correct Answer:- Option-C
Question76:-'GQeubpenar erenid Gamenals 9fGg) er(pgis
A:-Claubeno + (Lpene
B:-GloubLicb + (penar
C:-Gleud + (pewer

D:-QeubLy + penen
Correct Answer:- Option-A

Question77:-cursdlwils Wenlp &mssis
A:-ganevell senaveuGenm(h Clgemmmenr
B:-semaedl ganereuCarm(h Glaammg
C:-semaeil samaveuCearm(h Clgemmmer

D:-genaaiCenm(h Gearmmer semavedl



Correct Answer:- Option-C
Question78:-sflunens Cgranys Corea| Gelis

A:-s616dl Qam(hEs CsmTHéss Ganung|

B:-gevall Qarhss Qar(hEss @emmuing)

Ci-svedl Qar(hss Qasrhdss Gamnw| b

D:-serel Gar(hss Qarhisss @Ganud

Correct Answer:- Option-B
Question79:-'558D" - eraTLI6 GILITHET &(Hs.

A:-Licuerd

B:-Lignieued

C:-uipeid

D:-Yysrebd

Correct Answer:- Option-B

Question80:-"A little knowledge is dangerous" - sWilpr&sd Cslis.
A:-LLISE TN TGN 2iMley
B:-oifley oimr@emp ussTens)
C:-simy@amn Sibley YLssTag)

D:-gen ey Sidle] YLSSTerg|
Correct Answer:- Option-C

Question81:-The technique used to combine multiple channels for transmission
over a communication link is

A:-Signalling
B:-Multiplexing
C:-Transmission
D:-Switching
Correct Answer:- Option-B
Question82:-Which are the two different types of ISDN data rate access?
A:-BRI and PRI
B:-STD and ISD



C:-ADSL and VDSL
D:-FTTH and IPTV
Correct Answer:- Option-A
Question83:-The band width of a ISDN - B channel is
A:-64 kbps
B:-128 kbps
C:-16 kbps
D:-8 kbps
Correct Answer:- Option-A
Question84:-The maximum speed of an ISDN BRI channel is
A:-2 mbps
B:-12 kbps
C:-128 kbps
D:-8 mbps
Correct Answer:- Option-C
Question85:-In optical fibre the information travels in the form of
A:-Sound
B:-Light
C:-Electricity
D:-Solar waves
Correct Answer:- Option-B

Question86:-Which of the following is Government of India owned FSU providing
telecom services in India (except in Delhi and Mumbai)?

A:-MTNL

B:-VSNL

C:-TRAI

D:-BSNL

Correct Answer:- Option-D

Question87:-Any switching system used by an organisation to provide both internal
switching function and access to public network is called

A:-PBX

B:-ESS

C:-ISDN

D:-Telex

Correct Answer:- Option-A

Question88:-The features of a PABX which block the incoming calls to a specific
location is called



A:-DOD

B:-Call waiting

C:-Call drop

D:-DND

Correct Answer:- Option-D
Question89:-The Voip service that connect PBX to internet is called

A:-PSTN

B:-POTS

C:-SIP trunk

D:-ISDN

Correct Answer:- Option-C

Question90:-Which of the following PBX delivers PBX functionally as service through
cloud?

A:-EPAX

B:-Hosted PBX

C:-PABX

D:-All the above

Correct Answer:- Option-B

Question91:-Which of the following PBX system used both PSTN and SIP to carry out
communication to the outside world?

A:-EPBX

B:-Voip PBX

C:-PABX

D:-Hybrid PBX

Correct Answer:- Option-D

Question92:-In installing an IP-PBX, which of the following port of IP-PBX is
connected to a broad band modem or router?

A:-LAN

B:-WAN

C:-FXS Port

D:-FXO Port

Correct Answer:- Option-B

Question93:-The generally used factory default LAN IP address for IP PBX
configuration is

A:-192.168.1.1
B:-8.8.8.8
C:-192.168.0.2



D:-8.8.4.4
Correct Answer:- Option-A

Question94:-Which of the following telecommunication medium is having the lowest
loss?

A:-Co axial cable

B:-Jelly filled copper cable
C:-Optical fibre cable
D:-Cat 4 cable

Correct Answer:- Option-C

Question95:-Which of the following Telecom service provides voice, data and IP TV
services in a single channel?

A:-FTTH

B:-Cable TV

C:-HD TV

D:-ISDN

Correct Answer:- Option-A

Question96:-The feature that enable callers to directly dial into a phone extension
without the assistance of the operator is known as

A:-DOD

B:-Call waiting

C:-Call parking

D:-DID

Correct Answer:- Option-D

Question97:-The feature that enable a telecom operator to forward or extend a call
to a station even if the station is engaged in a call and if the call, is not answered
with in a predefined time interval the call will be routed back to the operator is
called

A:-Call holding

B:-Voice Mail

C:-Call Clamp on
D:-Conference calling
Correct Answer:- Option-C

Question98:-The ability to receive calls at any number of designated phones,
whether ringing all once or in a predefined sequence is known as

A:-Follow me calling
B:-Conference calling
C:-Group calling
D:-Trunk call



Correct Answer:- Option-A

Question99:-In connecting PBX to FTTH Telephone line which port of the ONT is
connected to PABX

A:-FXS

B:-LAN1

C:-FXO

D:-PON

Correct Answer:- Option-A

Question100:-What is the name of the customer end device used in FTTH a
services?

A:-ADSL Modem
B:-VDSL Modem
C:-Set of Box
D:-ONT

Correct Answer:- Option-D



